# **FIRST SEMESTER**

Napa Valley College – Respiratory Care Program \*Approximate Costs, subject to change, updated July 2024

# **College Tuition/Fees:** (\$46 per unit of credit – California Resident)

\*does not include required tuition and fees for general ed and science courses

Respiratory Therapy Classes: 10 units @ \$46	\$ 460.00
Health Services Fee/Insurance Fee: \$12 Health /\$1 Ins.	17.00
Student Body Fees: ID, Student Union	10.00
Campus Parking / per semester	32.00
	519.00

#### **<u>Textbooks and Required Materials</u>**: (These are approximate and change yearly)

\*does not include required textbooks for general ed and science courses

Clinical Manifestations/Assessment of Respiratory Disease Egan's Fundamentals of Respiratory Care Mosby's Respiratory Care Equipment Rau's Respiratory Care Pharmacology

\$ **539.19**+ Sales Tax

#### **Transportation Costs:**

Gas, toll fees and parking at clinical sites

varies

#### Lab Supplies/Materials:

Lab Kit , DataArc license, ID Badges, Patches, and HEPAFit Testing \$ 215.00

#### Other Expenses:

CPR Class (American Heart Association Healthcare Provider only)	65.00
BLS provider manual	16.00
Background Check / Drug Testing/Immunization Tracking	

Physical exam	FREE
MMR Titer Lab Orde (Individual Measles Titer \$5, Mumps Titer	22.00
\$13, Rubella Titer \$4)	
Hep B SA Titer Lab Order	6.00
aricella Titer Lab Order	5.00
Qantiferon Lab Order	48.00 +7.00
	Lab fee
PPD	FREE
TDap	N/A
Flu a/ccine	<u>10.00</u>
	*98.00

# **SECOND SEMESTER**

\*Approximate Costs, subject to change

<u>College Tuition/Fees</u>: (\$46 per unit of credit – California Resident)
\*does not include required tuition and fees for general ed and science courses

Respiratory Therapy Classes: 9.5 units @ \$46	\$ 437.00
Health Services Fee/Insurance Fee: \$12 Health /\$1 Ins.	17.00
Student Body Fees: ID, Student Union	10.00
Campus Parking / per semester	32.00

# **SUMMER SEMESTER**

\*Approximate Costs, subject to change

## **College Tuition/Fees:** (\$46 per unit of credit – California Resident)

\*does not include required tuition and fees for general ed and science courses

Respiratory Therapy Classes: 2.5 units @ \$46	\$ 115.00
Health Services Fee/Insurance Fee: \$12 Health /\$1 Ins.	17.00
Student Body Fees: ID, Student Union	10.00
Campus Parking / per semester	32.00
	174.00

# **<u>Textbooks and Required Materials:</u>** (These are approximate and change yearly)

\*does not include required textbooks for general ed and science courses

NONE

#### **Transportation Costs:**

\*costs go up dramatically at start of clinical rotations

Gas, toll fees and parking at clinical sites

varies

**SUMMER SEMESTER TOTAL = \$ 174.00** 

# THIRD SEMESTER

\*Approximate Costs, subject to change

#### **College Tuition/Fees:** (\$46 per unit of credit – California Resident)

\*does not include required tuition and fees for general ed and science courses

Respiratory Therapy Classes: 15 units @ \$46	\$690.00
Health Services Fee/Insurance Fee: \$12 Health /\$1 Ins.	17.00
Student Body Fees: ID, Student Union	10.00
Campus Parking / per semester	<u>32.00</u>
	749.00

# **<u>Textbooks and Required Materials:</u>** (These are approximate and change yearly)

\*does not include required textbooks for general ed and science courses

Pilbeams' Mechanical Ventilation (Cairo) Mechanical Ventilation Workbook (Cairo) Neonatal and Pediatric Respiratory Care (Walsh)

Textbook of Neonatal Resuscitation (American Heart Assn)

Respiratory Therapist Exam Review (Sills) 360.00

Sales Tax <u>28.80</u> **388.80** 

Therapist Multiple Choice Self-Assessment Exam 35.00

## **Transportation Costs:**

\*costs go up dramatically at start of clinical rotations

Gas, toll fees and parking at clinical sites varies

 $3^{rd}$  SEMESTER TOTAL = \$ 1,172.80

# **FOURTH SEMESTER**

\*Approximate Costs, subject to change

## **College Tuition/Fees:** (\$46 per unit of credit – California Resident)

\*does not include required tuition and fees for general ed and science courses

Respiratory Therapy Classes: 12.5 units @ \$46	\$ 575.00
Health Services Fee/Insurance Fee: \$12 Health /\$1 Ins.	17.00
Student Body Fees: ID, Student Union	10.00
Campus Parking / per semester	32.00
	634 00

<u>Textbooks and Required Materials:</u> (These are approximate and change yearly)

Case Studies and Clinical Simulations for Respiratory Care (online) 70.00
Sales Tax 5.60
75.60

**Transportation Costs:** 

Gas, toll fees and parking at clinical sites varies

#### State License:

 $4^{th}$  SEMESTER TOTAL = \$ 1,879.60

**Other Recommended Classes:** 

Kettering Review Seminar<br/>Group Deposit<br/>Advanced Cardiac Life Support<br/>ACLS provider manual(Discount based on 25 attendees)<br/>Hemaining Fee 210.00295.00Advanced Cardiac Life Support<br/>ACLS provider manual<br/>Pediatric Advanced Life Support245.00